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Test One

Part I Listening Comprehension (20 minutes)

Section A
Directions : _In this-section, you will hear 10 short conversations.
At the end of each conversation a question will be
asked about what was said. The conversation and the
question will-be spoken only once. After each question
there will be a pause. During the pause, you must
_ read the four choices marked A, B, C, and D, and
decide which is the best answer. Then mark the corre-
sponding letter on the Answer Shéet with a single line
through the center. :
For example: You will hear:
: You will read: A. At the office.
B. In the waiting room.
C. At the airport.

D. In a restaurant.
Sample Answer [A] [B] [C] [D]

From the conversation we know that the two were talking -
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about some work they have to finish in the evening. This is most

likely to have taken place at the office. Therefore, A. “At the

office” is the best answer. You should choose answer [ A ] on the

Answer Sheet and mark it with a single line through the center.

—
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. At home.

. Patient-doctor.

. In the classroom.

. Find a larger room.

. He feels sorry for those students.

He considers the punishment excessive.

He thinks it right to punish those students.

He disapproves of what the professor did.

$ 240. B. %200, C. $300, D. %120,

. The prettier one.

The new one.
The one that the man likes.

The more comfortable one.

. The man complains the price goes up every so often.

The man agrees that the price is too high now.

The man wants to know what the price will be later.
The man needs to mail some letters next month.

At a party.

At a restaurant. In a car.
Waitress-customer.
Wife-husband. . Secretary-boss.

In a bookstore.

In a reading-room.

Sell the old table.

Rearrange some furniture.

In the library.

ORU RO RYW

Buy two bookshelves.

. He was late.

He is hoping for a promotion.

He is a new employee.
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D. The boss usually leaves messages for him.

B.
C.
D.

It’s excellent.
The other place is far superior.
It’s overrated.

The menu isn’t very large.

~ Section B

Directions: In this section, you will hear 3 short passages. At the

<5 Queétior\n\s 11 to 13 are based on the passage you have just

heard.
11. A. San Francisco. B. Los Angeles.
. C. California:"“ D. New York.
12. A. High-tech and wealth.
B. Scientific research.
C. Traffic problems.
D. The American economic center.
13. A. Economic crisis. B. A shortage of talent.
C. The worst traffic jam. D. A shortage of housing.

]

end of each passage, you will hear some questions.
Both the passage and the questions will be spoken only
once. You must choose'the best answer from the four
choices marked A,B, C,and D. Then mark the corre-

sponding letter on the Answer Sheet with a single line

through the center.

Passage One
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14.
15.

16.
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Passage Two

Questions 14 to 16 are based on the passage you have just
heard.
A. A product which is made from plant.

B. A product that has less impact on the environment.
C. A product that is of the color of green.

D. A product that is no harmful to the body.

A. It might use less resources. :

B. It may create less waste.

C. It costs less.

D. It may be more efficient.

A. Meat made from soybeans.

B. A toothbrush made of recycled materials.

C. Clothes washers that use fifty percent less water.
D. Shirt made from old bottles.

~

Passage Three

Questions 17 to 20 are baséd on the passage you have just
heard.
A. Old people fear death.
B. It is justifiable for young people to fear death.
C. An old man will not fear death if he knows that there are
others who will carry on what he can no longer do.
D. An old man may not fear death if he has known human
joys and sorrows and has accomplished whatever work it
was in him to do.

A. Because he is young.
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B. Because he has not experienced human joys and sorrows.

Because he has not achieved whatever work it was in him

O

to do.
D. Because he may feel bitter in the thought that he has
been cheated of the best things that life has to offer.
19. It is justifiable.
It is somewhat abject and ignoble.
It is abnormal.
It is ridiculous.

20. To enrich his knowledge.

®>00®p

To make his interests gradually wider and more imper-
sonal.

To continue his work.

O

D. To make more friends.

- Part 1 Rea;ding Comprehension
Directions: There are 4 passages in this part. Each passage is
Sollowed by some questions or unfinished statements.
For each of them there are four choices marked A,
B, C, and D. You should decide on the best choice
and mark the corresponding letter on the Answer

Sheet with a single line through the centre.

Passage one

<> Questions 21 to 25 are based on the following passage:
In a (competitive e[(;pno ys the consumer usually has the
(wh‘lléti 5

{
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choice of several different brands of the same product. Yet un-
derneath their labels, the products are often nearly identical.
One manufacturer’s toothpaste tends to differ very little from an-
other manufacturer’s. Thus, manufacturers are.confronted with
a problem—how to keep sales high enough to stay in business.
Manufacturers solve this problem by advertising. They try to apd—
peal to consumers in various ways. In fact, advertisements may
be classified into three types according to the kind of appeals
they use.
' One type of advertisement tries to appeal to the consumer’s
reasomng mind. It ‘may offer a claim that seems scientific. For
example, i)t may say the dentists recommend Flash toothpaste.
In selling a product, the truth of the advertising may b‘e less im-
portant than the appearance of truth. A scientific approach gives
the appearance of truth. 3

Another type of advertisement tries to amuse the potential
buyer. Products that are sse}ntla boring, such as insecticide,
are often advertised in an amusing way. One way of doing this is
to make the products appear alive. For example, the advertisers
may pe(on;fy cans of insecticide, and show them attacking
mean-faced bugs. Ads of this sort areElll_’y_,_ but they also tend to
be amusing. Advertisers believe that consumers are likely to re-
member and buy products that the consumers associate with fun.

Associating the product with something pleasant is the tech-
nique of the third type of appeal. In this class are ads that sug-
gest that the product will satisfy some basic human desire. One
such desire is the wish to be admired by other people. Many au-
tomobile advertisements are in this ca )‘_gg'?ﬂ They 1mpl}5 that
other people will admire you—may even be JSE.I.%S/T when they

6
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see you driving the hot, new Aardvark car. Another powerful
desire to which advertisers appeal is the desire for love. (71)

Thus ads for bahdaﬁes are unlikely to emphasxze the way the

bandages are made or their low cost; mstead, the ads may show

a_mother tenderly binding up and then kissing her small boy’s

cut finger. In the picture there is an open package of Ouch Ban-
dages. The advertiser hopes the consumer will mentally iqsferi an
equal sign to create the eﬁgatio’n “Ouch Bandages = Love”.
One only needs to look through a magazine or watch an hour
of TV in order to see examples of these three different advertis-

ing strategies.

21. Under the disguise ot ditterent pranus
A. the products are quite different from each other :
?' the products are more or less the same
Jthe manufacturers tend to differ very little
D the brands may vary only in name or color
22 A s¢ientific approach i is used to prove
./ the true value of the product
é/the true appearance of the product
+ C. the buyers’ reasoning mind
D. the.appearance of the product
“potertial,buyer” (Para. 3) in this context probably means
that
A. those who may amuse the product
B. those who appear to be alive
9 those who may associate the product with fun
D those who may probably buy the Igroduct
24. In this passage, the picture of a mother tenderly kissing her
s



small boy is to show

A. human love from everyone
3 sympathy from the majority
g the usefulness of bandages«.
_D./finsertion of love in people’s minds
2% %hat does the passage imply?
| People should have a clear mind not to be easily lured by
~ the advertisements. i /
\?C(Advertlsers should be more clever to make their products

attractive .

. More scientific methods should be used to make adver-

i 0

tisements imaginative.

People’s desires can be more satisfied by the 1mproved

\

advertisements.

Passage Two :

<> Questions 26 to 30 are based on the following passage:
(72) Acculturation, which begins at birth, is the process of

teaching new generations of children the customs and values of

the parents’ culture. How people treat newborns, for example,

can be indicative of cultural values. In the United States it is not
uncommoﬁ \for parents to put a newborn in a separate room that
belongs only to the child. This helps to preserve parents’ privacy
and allows the child to get used to having his or her own room,
which is seen as a first step toward personal independence.
Americans traditionally have held independenge.and a closely re-
lated value, individualism, in high esteeth™ Farents try to instill
these prg_v\a_i!i’r_l_g_values in their children. American English ex-
presses these value preferences: children should “cut the (umbil-
8




ical ) cord” and are encouraged not to be “tied to their mothers’

”»

apron strings In the process of their socialization children

e
learn to “look out for number one” and to “stand on their own
two feet”. Many children are taught at a very early age to make
decisions and be responsible for their actions. Often children
work for money outside the home as a first step to establlshmg
‘ago;r;my Nine-or ten-year-old children may deliver newspapers
in their neighborhoods and save or spend their earnings.
Teenagers (13 to 19 years) may baby-sit at neighbors’ homes in
order to earn a few dollars a week. Receiving a weekly allowance

% at an early age teaches children to budget their money, preparing

them for fature financial independgnée. (73) Many parents be-

lieve that managing money helps children learn responsibility as

well as appreciating the value of money.

=26, Fipancial independence for American youth is one way of
xé/establishing self-independence i\
B. rebelling against parents
learning to deliver newspapers
D going to get prepared for attendmg college
27. “To Lut the cord” is ; : A
./to become dependent on one’s parents™~
o % to cut a piece of string
C. expression used by electricians
. /to become independent of one’s parents - ~'
28. Children who are “tied to their mothers’ apljon strings ”

A. are those caught in their mothers’ aprons



B. ymust always wear an apron when they eat
Egjare very dependent on their mothers
D. are those who are busy with making aprons
29. Teenagers are children
A. from 13 to 17 . from 13 to 19
(:J. from 12 to 13 D. from 13 to 18
30. What could be the best title for this passage?
A. Independence of Children. f2:
,/Child Raising in America. : ¢
C. How to Look After the Newborns.
D. How to Be a Good Mother.

Passage Three

\

<> Questions 31 to 35 are based on the following passage:

A computer is a machine designed to perform work mathe-
matically and to store and select information that has been fed in-
to it. It is run by either mechanical or electronic means. These
machines can do a great deal of complieated-work in a very short
time. A large computer, for ‘example, can add or subtract nine
thousand times a second , multiply a thousand times a second, or
divide five hundred times a second. Its percentage of error is
about one in a billion digits.— It has been estimated that human
beings making calculations average about one mistake per two
hundred digits.

The heart of an electronic computer lies in its vacuum tubes,
or transistors. Its electronic circuits work a thousand times
faster than the nerve cells in the human brain. (74) A problem

that might take human being two years to solve can be solved by

a computer in one minute, but in order to work properly, a com-
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puter must be given instructions —it must be programmed.

Computers can be designed for many specialized purposes—
they can be used to prepare payrolls, guide airplane flights, di-
rect traffic, even to play chess. Computers play an essential role
in modern automation in many plants and factorieé throughout
the world.”

31. A computer is a machine designed to
. perform work mathematically
perform complicated calculation

syore and select information

1 T0E >

all of the abpve

32. The passage calls vacuum tubes the electronic computer’s

A. nerve cells i B. Brain
C. nervous system D/ heart

-
33. The passage says that computers play an essential role in

o N

Y\/automation processes .

mathematical computations

O 1

traffic control ©
D. the development of mathematical theory

34. The use of computers for specialized purposes depends on the

\ E} design of the computer ~~.

Q/ power used to operate the computer
C. difficulty of the mathematical calculations involved
D. the ability of the programmer

35. The passage implies that human beings differ from comput-

13



